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public class WoonBaseThread extends Thread!
double fallSpeed,altitude;!
int fuellnit,burninglnit;!

l

public MoonBaseThread()[!

fallSpeed=0.0;!
fuellnit=250; !
burningUnit=0;!
}La\titude=100;l
public void run()
while(true){!
try{l

{!

rolling(); !

Thread.

] catch (InterruptedException ie) [!
l

(); !
if( (altitude < 4 & altitude >=

cale()
result(

position();!
System.out .printIn("¥nOK!I ! FEELF L")
I break; !
System.exit(0);!
l
if( altitude < 0 )]!
System.out.printin("¥nNG... =L £ L7=7);!
v break: |
System.exit(0);!
!
try [!
position();!
l
System.out.print("¥nlreturn] XL 5%
System.out.print ("#E2 = » }»=]\7‘3{E><10umt¥n )l
System.out.print("fol21 = v FEMRL FTH
Thread.sleep(5000); |
System.out.printIn("¥n");!
lcatch(InterruptedException e) [/
/A e.printStackTrace();!
// | System.out.printin("J 24— —8BFTZ IZA3"):!
l
1l
1
H
public void rolling()[!
int numd=new java.util.Random().nextInt(2);!
int numB=new java.util.Random().nextInt(2);!|
int numC=new java.util.Random().nextInt(2): !
int numD=new java.util.Random().nextInt(2);!
int numE=new java.util.Random().nextInt(2);!
int numF=new java.util.Random().nextInt(Z);!|
int numG=new java.util.Random().nextInt(2): !
int numH=new java.util.Random().nextInt(2);!
l
Y System.out.printf("¥b¥b¥b¥b¥b¥b¥b¥b¥d¥dhdRdihdidhdihd”
public void result()[!
System.out.printf("=E :%.3fm[]" altltude) l
System.out.printf(” Ei_FEEIh %. 3fm/s[] fallSpeed)
System.out.printf(” ibﬁ#} Shdunit”, fuelUnit); |
System.out.printIn(”"):!

sleep(70): !

0) && (fallSpeed <= 10 && fallSpeed >= 0) )[!

%Eﬁﬁ%bi?%)
MI~OTETEEERLOTESR) 7 7))

Jnumé, numB , numC , numD , numE ,



public void position()]

l
for(int i=1:i<=(int]a|t|tude/2 i++)1{1
| System.out .print(” ")

!

System.out.printin(">M");!

H
public void calc()[!

fallSpeed += 1.62;!

falISpeed -= (0.1%burninglnit);!
altitude -= fallSpeed;!

fTeIUnit -= burningUnit;!

“lpublic double getdltitude() {!

return altitude;!

1
"lpublic double getFallSpeed() {!

return fallSpeed;!

80 ]l
flpublic int getFuellUnit() {!

return fuelUnit;!

83][
public void setBurningUnit(int b) [/

this.burninglnit=b; |
l

#lpublic void setFuellUnit(int f) {!

this.fuellnit=f;|

7l
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public class MoonBaseThreadMain(!
public static void main(String[] args){!
MoonBaseThread mbt = new MoonBaseThread(): |
mbt.setFuelUnit(1000); //BRRIOEBEIAA L AV v FTERE!
mbt.start(); !
while(true){!

String s=new java.util .Scanner (System.in).nextLine()
if (s.equals("07)){mbt.setBurningUnit(0);}!
if (s.equals(”]”)):mbt.setBurningUnit(1U) l
if (S.equals(”Z”))_mbt.setBurningUnit(ZU), |
if (s.equals("3"))[mbt.setBurningUnit(30);}!
if (s.equals(”4”)){mbt.setBurningUnit(40);]|l
if (s.equals(’5")){mbt.setBurningUnit(50);}!
if (s.equals("67))[mbt.setBurningUnit(60);:]}!
if (s.equals(”77)){mbt.setBurningUnit(70);]}!
if (s.equals("87)){mbt.setBurningUnit(80);}!
if (s.equals(’97)){mbt.setBurningUnit(80);}!
if (s.equals(""))[!

System.out . pr|nt|n("");l

mbt.interrupt();.

if(mbt. getFueIUnlt()< 0)
System.out.printin(”
break: !

{1
CLKBEIDSH Y FHAODT);
1

mbt.stop();!






